w

W V]

A L — - — A POSITION GASKET ON END OF VALVE SO
MOUNTING HOLES ALIGN
- BOTH ENDS (SIDE 'A' SHOWN)
O V NOTES:
14 ) SEE NOTE 2 1) ALWAYS GIVE VALVE MODEL, AND PART NUMBER WHEN ORDERING PARTS.
O EB P EA ﬁ1 O 2) LUBRICATE DETENT BALL, SPRING AND CLEVIS.
15 3) APPLY ANTI-SEIZE COMPOUND LIGHTLY TO THE FIRST 1/4" OF THE SCREW
THREAD. APPLICATION SHOULD BE AROUND THE THREAD OF THE SCREW.
16
18 17
6 8] 2 [vn SCREW, #2 X 3/16 DRIVE, TYPE U, OVAL HEAD, STAINLESS STEEL
7] 1 M6 NAMEPLATE, BLANK, STAINLESS STEEL
Q 16| 1 [v21ss SCREW, 1/4-20 X 3/16, SOCKET SET, CUP POINT, 18- S5
Q 5] 1 oS3t SPRING, DETENT, STAINLESS, /4" & 3/8" VALVE, LEE SPRING # LC 0298 0'S.
14 1 [v4ss BALL, 440C STAINLESS STEEL, 3/16 DIA, FOR DETENT
W_ /QD 3] 4 |65 SCREW, 10-24 X 5/8, SOCKET HEAD CAP, STAINLESS STEEL
. 2] 1 [Ho3 CLEVIS - 3 POS. DETENT, STAINLESS, 1/4' & 3/8" VALVE
SIDE'B' 7 @/ SIDE"A ] 1 |v4ess PIN, ROLL 3/16 X 9/16 16-8 STAINLESS
0] 1 |vs08s PIN, ROLL 3/16 X 5/8", 188 55
9 | 1 [H3ss HAND LEVER, 303 STAINLESS STEEL, 1/4' & 3/8" VALVE
Q 8 | 1 [vsu KNOB, RED (BRASS 3/8-16 INSERT), 1" DIA BALL, 1/4' & 3/8" VALVE
ARNES END CAP, LEVER, DETENT, 303 STAINLESS STEEL, 1/4' & 3/8" VALVE
@/ 6 | 1 [ssHzss SPOOL - STANDARD, 2 POS, CLSD CTR, STAINLESS, 1/4' 8 3/8" VALVE
SECTION A-A 3 5| 1 [se3 END CAP, VENTED, STAINLESS STEEL, 1/4' & 3/8" VALVES
3 . l 4 | 4 |v3sss SCREW, 10-24 X 34, SOCKET HEAD CAP, 18-8 55 s
SCALE1:1 /@ 3] 2 [eees GASKET - END CAP, 1/4" & 3/8" VALVE |
VIEW FROM 3 PORT SIDE 2 [ 6 |3 O-RING, VITON, STD BODY, 1/4' & 3/8" VALVES |5
1] 1 [mass BODY - STAINLESS STEEL, PLAIN, NO PILOTS, 1/4" SIDE PORT VALVE |§
FLG| QY | PARTNO  [DESCRIPTION 2
s ouemmeions 37 S5t £ | JARCTK? ABA PRODUCTS |
OTHERWISE SPECIFIED. \NGUaR %172+ | Ko ) 7 oopiarry Hines Bivd |2
(B) (A) DRAWN: RMcKenna DATE: 12/29/2022 CHECKED: KWaite DATE: 12/29/2022 5
i j O SCALE: 1:1 SHEET: 1 OF 1 RELEASED: HWomack DATE: 12/29/2022 g
TITLE: PART NO.: REV.. [2
8 1/4" SIDE PORT, LEVER, 3 POS, g
1T DETENT, LVR RTRN, CLSD CTR SPOOL, HD2JTSS c
EDOE RED KNOB, 180D LVR, STAINLESS 3
4 I 3 THE INFORMATION CONTAIQED WITHIN THIS DOCUMENT IS PROPRIETARY TO AfA PRODUCTS AND MAY NOT BE DISCLOSED

WITHOUT PRIOR WRITTEN CONSENT



